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For competitive enterprises, MRPS is :

(A) Greater than zero

(B) Less than zero

(C) Equal to zero

(D) Infinity

Which of the following is a power

function ?

(A) Linear function

(B) Cobb-Douglas function

(C) Quadratic function

(D) None of the above

Greater risk is involved in.......type of

farming.

(A) Diversified farming

(B) Specialized farming

(C) Mixed farming

(D) Ranching
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Which of the following is a system of

farming ?

(A) Diversified farming

(B) Specialized farming

(C) Cooperative farming

(D) Ranching

In a collective farming, ownership is

of :
(A) Society
(B) Individual

(C) Government

(D) None of the above

In capitalistic farming, ownership
(A) Society
(B) Individual

(C) Government

(D) None of the above
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In peasant farming, ownership is :

(A) Society

(B) Individual

(C) Government

(D) None of the above

Which of the following is an explicit

cost ?

(A) Fertilizer

(B) Farm manager’s labour

(C) Farm family labour

(D) Retained seed

Which of the following represents

comprehensive cost of cultivation ?

(A) Cost Al

(B) Cost A2

(C) CostB

(D) CostC
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10.

11.

12.

Cost calculated per hectare is called :

(A) Cost of production

(B) Cost of cultivation

Economic cost

(©)

(D) Opportunity cost

Economic efficiency of production is

denoted by :

(A) MPP
(B)
(©)

(D)

MVP
APP

AVP

The total fixed cost.......... with increase in
production.

(A) decreases

(B) increases
remains constant

(©)

(D) None of the above
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13.

14.

15.

The average fixed cost,

increase in production.

(A) decreases
(B) increases
(C) remains constant

(D) None of the above

Which of the following is not a system of
farming ?

(A) State farming

(B) Collective farming

(C) Cooperative farming

(D) Dairy farming

A farmer spends money according to :

(A) Cost principle

(B)

Law of equimarginal returns
(C) Opportunity cost principle

None of the above

(D)
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(A) B = B €
(B) 3mSeYe i 2 2
(C) <l (A) 3R (B)
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(A) MC=MR
(B) MVP =MIC
(C) MRPS=PR

(D) MRTS =PR
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Gross returns from an enterprise

includes :

(A) Total expenses
(B) Total returns

(C) Both (A) and (B)

(D) Net returns and expenses

In factor-factor relationship, the gquantity

of :

(A) Factors are varying

(B) Output is varying

(C) Both (A) and (B)

(D) None of the above

Product-Product relationship is concerned
with :

(A) Resource use efficiency

(B) Resource productivity

(C) Resource allocation

(D) Resource combination

Profit maximizing level of input is :

(A) MC=MR
(B) MVP =MIC
(C) MRPS=PR

(D) MRTS =PR
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20.

21.

22.

23.

Excess of liabilities over assets

indicates :

(A)
(B)
(©)
(D)

Solvency of business
Insolvency of business
Net worth

All of the above

Dairy farming, pig farming, sheep

farming, goat farming etc., are examples

for :

(A) System of farming
(B) Types of farming
(C) Both (A)and (B)

(D) None of the above

Farm planning involves :

(A) Preparing farm budget in advance

(B) Selecting and best

package of practices

adopting

(©)
(D)

Both (A) and (B)

None of the above

returns per hectare of a firm

is.......efficiency measure.

(A) Overall
(B)
(©)

(D)

Specific
Absolute

Partial
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Optimization of use of resources at farm

level refers to :

(A) Farm management
(B) Production economics
(C) Agricultural marketing

(D) None of the above

Which of the following cost curves is not
U shaped ?

(A) AVC
(B) AFC
(C) MC
(D) ATC

Average Total Cost (ATC) is :
(A) MCplus AC

(B) Total cost divided by marginal cost

(C) Total cost minus marginal cost

(D) Total cost divided by output

MPP of variable input is negative in :

(A) Stagel
(B) Stage Il and 1l
(C) Stage I

(D) Stage Il
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28. 9 URGH AN I B RER B G, 28. When variable cost is equal to zero, total

3 & o T 2Rl ? cost will be :

(A) T B TR (A) Equal to zero

(B) ReR T & TR (B) Equal to fixed cost

(C) 3JaMR AN & S (C) Equal to opportunity cost
(D) SUYw H H I el (D) None of the above

29. Qo URI AN d% BT AGR T 29. The shape of Total Variable Cost curve

2rT ? is :
(A) JRAPR AfTRIAT (A) Rectangular Hyperbola
(B) 9T (B) Convex
(C) YIIdR Wdcly (C) Cubical parabola
(D) SUYd H § I el (D) None of the above
30. el AN dsh D ATBR &l BT 2 30. The shape of Total Cost Curve is :
(A) AR AfTRIAT (A) Rectangular hyperbola
(B) 9o (B) Convex
(C) YIIDdR Wdcly (C) Cubical parabola
(D) SUYa H A Bl 7l (D) None of the above
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31.

32.

33.

34.

In production function, production is a
function of :

(A) Price

(B) Factors of Production

(C) Total Expenditure

(D) None of the above

The basic reason of operating the Law of
Diminishing Returns is :

(A) Scarcity of factors

(B) Imperfect substitution between

factors
(C) Both (A) and (B)

(D) None of the above

Which of the following explains the
short-run production function ?

(A) Law of Demand

(B) Law of Variable Proportion

(C) Returns to Scale

(D) Elasticity of Demand

Long-run production function is related
to:

(A) Law of Demand

(B) Law of Increasing Returns

(C) Laws of Returns to Scale

(D) Elasticity of Demand
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35.

36.

37.

In which stage of production a rational
producer likes to operate in short-run

production ?

(A) First Stage
(B) Second Stage
(C) Third Stage

(D) None of the above

Law of variable proportion explains three
stages of production. In the first stage of

production :

(A) Both MP and AP rise

(B) MP rises

(C) AP falls

(D) MPis zero

At which time all the factors of

production may be changed ?
(A) Short-run

(B) Long-run

(C) Both (A) and (B)

(D) None of the above
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38. URda=g ok ff¥ad damsT @ d&-lél  38.  The technical efficiency of variable and

2ed P9 gedl & ? fixed resources increases in :
(A) YIH =X (A) | Stage
(B) fediy =wur (B) 1l Stage
(C) T =R (C) 1Nl Stage
(D) SWE ¥ | FIg el (D) None of the above
39. JdCq Bed & UUH RO H IATeT Pl 39. Elasticity of production in first stage of
= @ et ? production function is :
(A) TF ¥ IS (A) More than 1
(B) Uad q B (B) Lessthanl
C) J (C) Zero
(D) 3 (D) Infinity
40. IHGT B H SIS T 7 40. In production function, input is :
(A) A =W (A) Dependent variable
(B) ¥Wdd =™ (B) Independent variable
(C) IR (C) Intercept
(D) Suga H A Bl 7Tl (D) None of the above
41. W4 MRPS =0, dl SIS RIT BT ? 41. 'When MRPS = 0, then the products are :
(A) DI (A) Complementary
(B) WwiHg! (B) Supplementary
(C) dulfefed (C) Competitive
(D) TermfiRe® (D) Antagonistic

AG—-6004 (14) Set-C



42.

43.

44,

45.

AG-6004

TRaRG AR A & Aoy fhwe 42

IR § ?
(A) DI
(B) Ws<IcYC

(C) Whac F&ITT

(D) SWH # | B Tl

Ugh Ied HRIGA H wA-faws ffig w43,

feh e T T o BT & 7
(A)  FTHD
(B) APRIH®D

€ xIH
(D) VT &l DI ST Hebell

IIEH B A I D Bl ? 44,

(A) T TR B AT W
(B) Tgdd =TT @I YT W
(C) T TR BT YB3 W
(D) SHIE W

frefeRad § ¥ &9 97 9 AC 9% B 45.

S¥a e fig W dredr @ ?

(A) AVC
(B) AFC
(C) MC

(D) SWad # ¥ BIg T2

(15)

Family and hired labour are examples of :

(A) Complementary
(B) Substitute
(C) Perfect Substitutes

(D) None of the above

At Dbreak-even point in a production

programme, the profit to farmer is :
(A) Negative

(B) Positive

(C) Zero

(D) Cannot be calculated

Elasticity of production is zero at :

(A) End of I stage
(B) Start of Il stage
(C) Start of Il stage

(D) All of the above

Which of the following curves cuts the

AC curve at its lowest point ?

(A) AVC
(B) AFC
(C) MC

(D) None of the above
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46. 9 Rg el S @ g U e 460 The point, where the elasticity of

3 production remains zero is lying at :
(A) AR=MR (A) AR=MR

(B) MR>AR (B) MR>AR

(C©) AR<MR (C) AR<MR

(D) SUYd H H IS el (D) None of the above

47. 69 oMd § YgHHI Wl gch AN 47. Which of the costs includes managerial

397 services component ?
(A) <Td Al (A) CostAl

(B) <Id B2 (B) CostB2

(C) <Id C3 (C) CostC3

(D) Suga H A Bl Tl (D) None of the above

48. HcUg™ T BRI o uRgwRy @ 48. Due to depreciation, the value of an

asset :
Y
(A) dedl g (A) Increases
(B) PH ERSINIA (B) Decreases
©) ReR YEar § (C) Constants
(D) SUYa H A Bl 7l (D) None of the above

AG—-6004 (16) Set-C



49. UH [ed Hod 8§ o MP dedl @, 49. In a production function, when MP

increases, TPP :

TPP:
(A) Tl TR W dedl © (A) Increases at increasing rate
(B) el & W dedl © (B) Increases at decreasing rate
(C) ReR & 9 qgar @ (C) Increases at constant rate
(D) SWE ¥ | FIg el (D) None of the above
50. U® IdGT God H, 99 MPP I B, 50. In a production function, when MPP is
TPP : zero, TPPis:
(A) Tl T W dedl © (A) Increases at increasing rate
(B) el & W dedl © (B) Increases at decreasing rate
(C) ReR & 9 qga1 @ (C) Increases at constant rate
(D) SWE ¥ | TS el (D) None of the above
51. U® SdIgd Bold 8 od MPP = APP, 51. In a production function, when MPP =
a9 - APP, then :
(A) APP 9% Wl & (A) APP is increasing
(B) APP UT W & (B) APP is decreasing
(C) APP R 3 (C) APP is constant
(D) APP 31fidaH & (D) APP is maximum
52. SACT Bl & &7 | H : 52.  In zone | of production function :
(A) MVP>MIC (A) MVP>MIC
(B) MVP < MIC (B) MVP <MIC
(C) MVP=MIC (C) MVP=MIC
(D) SUYa H A Bl 7l (D) None of the above

AG—-6004 (17) Set-C



53. JACT BT b &7 11 ¥ : 53. In Zone Il of production function :

(A) MR>MC (A) MR >MC
(B) MR <MC (B) MR <MC
(C) MR=MC (C) MR=MC
(D) gmjzﬁ T 9 Plg el (D) None of the above

54, JgAIGC a9 B 39 wT § A SIFET A 54. Isoquant is also known as :
2

(A) WG IS 9% (A) Product indifference curve
(B) UG HAMIIAT dh (B) Production possibility curve
(C) SNIUA-TNR d%h (C) ISO resource curve
(D) 93 &l (D) Price line

55. Udh @ % W Isdldde & A 55. A number of isoquants on the same graph
HEar T is called :
(A) IUE ISRIAT dsh (A) Product indifference curve
(B) UG HMIIAT dh (B) Production possibility curve
(C) SNIUA-TNA d%h (C) ISO resource curve
(D) fsaIgde 7Y (D) Isoquant map

56. $ac} He 3N aeHl TS F T E ? 56. Tractor hours and man hours are :
(A) WHIT DAAHCH (A) Perfect complements
(B) WhHdac WeHCH (B) Perfect supplements
(C) WWwdc FeICYe (C) Perfect substitutes
(D) STYa H H IS el (D) None of the above

AG—-6004 (18) Set-C
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CARCILC I

(A) FR¥ad arrd
(B) M @Td

(C) URIG I AN
(D) i @RI

# off ST o 2

(A) WG IS 9%
(B) dmgIgde

(C) STEH-THET b
(D) e

AYHT SR b AHe H, Jcared FRe 59,

ag &ur NI ?

(A) ‘T’ & ATER H
(B) S ‘Tal’ & MBR &
(C) e

(D) U’ & NMIR B

DIty SeMl & folt, MRPS @ ¢ 60.

(A) ¥ TSI
(B) I WA
©) LI D TR
(D) 3Fd

(19)

The cost incurred by a farmer for
pumping irrigation water is a :

(A) Fixed cost

(B) Marginal cost

(C) Variable cost

(D) Average cost

Production possibility curve is also

known as :

(A) Product indifference curve

(B) Isoquant

(C) Iso resource curve

(D) Price line

In case of joint product, the production
possibility curve is :

(A) ‘L’ shaped

(B) Inverted ‘L’ shaped

(C) Concave

(D) ‘U’ shaped

For complementary enterprises, MRPS
is :

(A) Greater than zero

(B) Less than zero

(C) Equal to zero

(D) Infinity

Set-C



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.
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12.
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